Algebra { — Quadratic
Chapter 5 6
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7.y varies directly with xand y = 25 whenx =6
- Find the constant of variation

- Write a direct variation equation that describes the relationship between xandy
- Find the value of y when x =13
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8. Does the following data represent direct variation? Show the work that Justifies your answer.
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9. Write the following equations in slope intercept form and then graph them,

a) 4y-5x=16 ] 2x4+2y=8 c} Hy 6x=4 (change sca[e for graph)
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10 Write an equation in slope-intercept furm given the

foilowing information:

a) m=-4b=7  b)(9,6) (-3, 30). ) ws -]
L ML = .
het] B Lo o
| RTEITIN v o
° !(gﬁ%]; y = X - "j
. A ) . I - ‘
) i
11. John has $125 saved uFimrhisBank account. On the weekends he coli¥cts bottles and cans at the

dump to raise mopey for a new bike. He earns $,05 for each bottle or can that he coilects. 1) How many
bottles and cans does he need to collect in order to purchase a bike that costs $1105 2} How much
money wili he have if he collects 500 bottles and cans this weekend?

Write an equation in stope-intercept form and then use it to soive the problem.
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12. Create an explicitformula forthe pattern-andlthen rewrite it as an equation in slope-intercept form.
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13. Write an equation in Point-slope form givér;rwfcrﬁ;n\"_g]' information: {
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14, Write an equation in 5ta

a) 5y=15 -4x M
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15. Graph the following equations using the x and y intercepts:
ay7x-5y=35 o) 3x +6y =36 ¢) 5x -8y =32
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16. At Christmas in the square you could buy candy canes for $5 and hot chocolate for $7. The goal was
to raise exactly $175. 1} Write an equation in standard form that would allow vou to find 4 different
combinations of sales that would have earned the $175. 2) Use the x and y intercept to draw a quick
graph of the’ intercepts, (label the axis) You can use the calculator i ityeu- kn@whcw if not you have to do
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17. Put the Following data into your calculator and develop an equation that models the data (lina of best
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# of Lobsters a) How many lobsters will be in the harber if there are 550 traps?
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)} How many traps will it take to get the fobster populafuon to equal zero?
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500 625 C). What Is the correlation coefficient?
600 400 a. What does it tell us about this particular problem
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% 18. Graph the following by using translations of the parent graph
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